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7 100kN/m#E#Z5| 100|000 ~ 005 10078 |3m&EEZB| — ~ — — — | 100kN/mi%i#825 | 1.00 | 1269 ~ 1291 100.78 |3mZz#EZ5 - ~ — — —
s 1.00 | 005 ~ 7.84 100.00 | =nLSY | 0.00 ~ 7.84 | 1.93 9.76 zh st 1.00 | 5.00 ~ 1269 100.00 | =nst | 6.00 ~ 1291| 1.93 9.76
2 100kN/m%E#BZ25| 1.00 | 000 ~ 010 101.44 |3mEEZB| — ~ — — — | 100kN/M%&#82% | 1.00 | 1269 ~ 1310 10144 |3mE#BZ5 - ~ — — —
s 1.00 | 010 ~ 788 100.00 | #nLsy | 0.00 ~ 7.88| 1.93 9.76 Zh st 1.00 | 5.00 ~ 1269 100.00 | =nLst | 6.00 ~ 1310 1.93 9.76
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 5.01 62.46 | FnLSY | 000 ~ 0.00| 1.567 7.91 Zh st 1.00 | 5.00 ~ 5675 62.46 | ThSY | 5,00 ~ 6756 | 1.67 7.91
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 7.04 89.30 | #nst | 000 ~ 7.04 | 1.88 9.51 Zh st 1.00 | .00 ~ 9.11 89.30 | =hH | 5,00 ~ 911 1.88 951
5 100kN/m%E#Z5| 100|000 ~ 005 10070 |3m&EEZB| — ~ — — — | 100kN/m%E#Ez25 | 1.00 | 11.22 ~ 11.35| 100.70 |3mEEZ5 - ~ — — —
s 1.00 | 0.05 ~ 7.83 100.00 | 0S| 000 ~ 783 | 2.38 12.04 Zh st 1.00 | 5.00 ~ 1122 100.00 | =hst | 6,00 ~ 11.35| 2.38 12.04
P 100kN/m%E#Z5| 100|000 ~ 005 10074 |3m&EEZEl — ~ — — — | 100kN/M%&#82% | 1.00 | 1269 ~ 1290 100.74 |3m&E#BZ5 - ~ — — —
s 1.00 | 005 ~ 7.84 100.00 | =nLSy | 000 ~ 784 | 1.93 9.76 st 1.00 | 5.00 ~ 1269 100.00 | =hst | 6.00 ~ 1290 1.93 9.76
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




